11/29/21, 8:42 AM Quiz 6 - Week 12

. Xin lwu y rdng mét sé hoc sinh da thwe hién hoac bat dau ., g
M Hocsin| . R . X |stra no. Néu ban
lam bai kiém tra nay

thay déi bd__ t chAm diém lai
nhirng hoc sinh da lam phién ban cii cta bai kiém tra.

DPiém 10 @ D3 xuat ban :

Chi tiét Cau hai

Hién thi chi tiét cau hoi

Q1. 1 pts

......... is not part of the double entry system, it is extracted from the double entry system. It is the
starting point to preparing the financial statements.

Balance sheet
Income statement
i dung Trial balance

Statement of cash flows

Q2. 1 pts

If total debits exceed total credits there is @ .......ceereeeeene. on the account.

i dang debit balance
credit balance
unbalanced

balancing

Q3. 1 pts
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Which decument is NOT iccuad hy the callar?
Xin lwu y rang mét sd hoc sinh da thyc hién hodc bat dau
lam bai kiém tra nay

Sales order
Delivery note
Invoice

i dang Purchase order

Q4. 1 pts

............. is someone who owns part of a company.

a debtor
i dang a shareholder
a manager

an employee

Q5. 1 pts

In calculating PIT:

Assessible income = Taxable income - (Statutory mandatory insurance contributions + Personal
deductions)

i ding Pung

Sai

Q6. 1 pts

.................. the amount of net income left over for the business after it has paid out dividends to its
shareholders.
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Xin lwu y rang mét sd hoc sinh da thyc hién hodc bat dau

lam bai kiém tra nay X
Revenue
i dang Retained earnings
Q7. 1 pts
In a trial balance, if total debit equals total credit, the trial balance is correct.
bung
i dung Sai
Q8. 1 pts

Which error is this?

An acquirement and asset is debited in the fixed asset account and credited in cash account as
£6,843, but the amount should have been £6,483.

i dung Transposition errors
Errors of omission
Errors of principle

Errors of principle

Q9. 1 pts

Which error is this?

Administrative expenses of £2,800 are entered as £2,200 in the administrative expenses ledger
account. At the same time, distribution costs have been entered as £4,700 but should have been
£4.100.

Administrative expenses are understated by £600 and distribution costs are overstated by £600.
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Xin lwu y rang mét sd hoc sinh da thyc hién hodc bat dau y
lam bai kiém tra nay

Errors of principle

Compensating errors

Q10. 1 pts

If total credits exceed total debits the account has a

debit balance
i dung credit balance

balancing

balanced

-+_Cau héi méi +_Nhoém cau héi méi Q_Tim kiém cau hoi

(J Théng bao cho nguwoi ding bai kiém tra nay da thay ddi
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